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q—I1 / PART—I
aTe e wa e &y
CHILD DEVELOPMENT AND TEACHING METHOD

1. fFM 9% A Yar ST 3 1. Plateau in learning curve is caused
(1) afgedr & Hro due to
(2) TIROT % (1) maturation
3h ¥FW F HRY (2) motivation
(4) RN % g (3) fatigue
2. T4u 97 9lemo Teas o ? (4) interest
() wftem = nfy %ﬂ T i 2. Mirror drawing test is used to measure
" (2) AlH-IRw (1) rate of learning _
(3) GSHIHEM (2) transfer of learning -
(4) =il (3) creativity
{4}, interest
3. I3 foar T fo 3 @ feas
'EFIHT%? AT e ,3-/61011{:1 picture test is used to mecasure
' which of the following?
) ﬂﬁ; (I) Intelligence
(2) =AfFA , !
{2j Personality
(3) famm 5 Aotitud
st () msreat
nteres
4. Fe 3 37 3 3 fi &7 4. Find the odd one.
(1) Ze o 2o 1) “TAT
2) 16-dlo Too (2) 16-PF
(3) ﬁ.q 1 T (3) Raven’s test _
] SRR e [4) Draw-a-Man test
5.7, 8,9, 10, 11, 12 ¥ 7w 5. The median of 7, 8, 9, 10, 11, 12 is
(1) 8 , (1 8 : =
(2) 9 2) 9
(8) 10 : @ ‘10
O e
o mﬁﬁﬁifﬁmﬂm 6."Who has propounded the theory of
# insight?
(1) i (1) Thorndike
(2f IreTEEATE BT @) Gestalt Paychologist
(@) ¥l . (3) Hegarty
(4) T&FR {4) Skinner

7. g&'@ﬁ o ITFER TAH kS Tﬁﬁ‘ H =g Bl 7. j{ccording to McDou

- . all’ ev - . -
associated: with g ery instinct 18

(1) @\ : (1) cognition

(2w (2) emotion

(3) WIW (3) sensation

(4) = (4) thinking
Paper-11/C 2
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8. g % STHR THAS B 5 _
% ? o e R 3-,G'iv1_ng the meaning to sensation on the
) basis of past experience is called
(1) Hael (1) sensation
(2) W& {2} perception
(3) T (3) motivation
(4) Fedl (4) imagination
9. gfg ad ¥ HiEd I WHEE AP s af 3 -9./F.ive-year-old Mohan has mental age of
T ghg afen Tl 27 ' eight. What is his 1Q?
(1) 150 (1) 150
2y 160 (2) 160
(3) 140 (3) 140
(4) 135 (4) 135
10. =F- g @ wR A=<dfg T atm | O f;'i‘éf l;flge;iggle Ji‘zt:?cﬂeecf c;rﬁ:;igl?e 1
TRrgorEna gy Al R Fead 87 Y g
- (1) 70-79
(1) 70-79
e (2) 50-69
1_2) 50-69
(3) 36-49
364
) g {4) 35 and below
(4) 35w f= 1
L ' ~ 11./Rorschach inkblot test is used to
11, YufE TEediz 2w @ WM AE § # e measure which of the following?
= v e s @7 : (1) Personality
(1) =Afoed {2) Intelligence
(2) 9 (3) Interest -
(3) fimfy (4) Aptitude
(47 I BERG) 12,):(115(:}1 of the following is not the cause
12. e i 3 FR-w frefy w1 o 7@ 87 of forgetting?
(1) dre & et {_1] Under-leammg_ |
(2 = = —(21! Des;re to remember
(3) ARE (3) :,;Ie;ltal conﬂic}: s .
4 ti t mberi
(4) 4 B Sl it (4) Defective methods ol reme .e ng
13. 9 fgE, W dereE W & 0, 13¢The science which 'deals wit}} _the
A HEATHD methods of collecting, classifying,
TR 0, Seg 0, el H ST ATE! presenting, comparing and interpreting
4 i 54 ¥ grafea &, e A : numerical data is called
(Y giferh (1) statistics
(2) wifera (2) mathematics
(3) wufifa (3) geometry
(4) wesTTl (4) probability
Paper-11/C 3 | P.T.O.
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14. 33 o= ¥ fou At afy i emuwon
Toraa 1 27

(1) e
(2) I
(3) WA =E
(4)- Tafa <€

15. = & #R-1 & 399 whey 6 e
_ﬁﬁa%?

(1) Fvaga
(2) aAwal
(3) wghEa
{4y wfiregma
16. = 8 @ Fr-w1 3% =1 Rrgra 8 37
(1) -7 fagr
(2) Ta-aw fagra
3 T g
(4) aga fargra ,
17. B § 3 -1 v e uf T 37
(1) e a2
(2) iy
N R af
(4) TR TR
18. o ¥ gEn wyEewE e 6 R
e B
(1) FAfza sEen
@) i i ) ST ‘
By E-uiEH sEen
@) wd afn 6 s
10, e R @ WRR AT w
- ER-m R
@ A
(2) araTER
3 @ 7 =W
@) 390 Bl

Paper-11/C

4

concept of

4. Who has
,i 2 for backward

educational
children?

(1)
(2)
(3)
(4)

given the
quotient

Gordon

Schonell

Burton Hall

Cyril Burt

f":i. Which among the following is different
from the characteristics of a good test?
(1) Reliability
{2) _Validity
(3) Objectivity
(4} Aptitude

16. Which of the following is not the theory
of intelligence?

(1)
(2)
3)
(4)

Unifactor theory
Two-factor theory
Theory of regression

Multifactor theory

17. Which one of the following is not a
-ductless gland? .

(1) Adrenal gland
_(2)  Pituitary gland
(3) Salivary gland
(4) Thyroid gland

id’.) According to Piaget, the second stage of
cognitive development is

(1) sensorimotor stage

(2) formal Operations stage’
(3) pre-operations stage

(4) concrete Operations stage

19, What is the fac
development?

tor influencing physical
(1) Heredity

(2) Environment

(3) Sports and exercige

'(4) All of the aboye

https://www.upboardonline.com



20. g wfey F AT F el = § e
??

21.

22.

23.

24.

I ST
qreafae g
e 3Y
TS AY
T A
AHTH 31Y
MR 31y
qrefas g x 100

‘Fyaeia o 6 ==l e @ ey 6 27
(1) R

(2)

(3) g

(4) $H

ANTTF T & 0 3§ PA-dt i T 37
(1) EeE

(2) wEm

(3) QHRF

(4) <pedl

dieh TR E A R e i e R A
TS B -

A) foerm

(2) TRWR

(3) ru?

4) fam 2

5@ TR ) o wgw fad ¥, S 9 Il @
(1) oo wgedt &
(2) e fafgat o <@ #

(3) Wit WRET § ay 7 W d THOD
B 2 |

(4) FIA FeIHRI A

(1) 100

(2)

(3) 100

(4)

Paper-lI1/C

.20, Which of the following is correct formula
to calculate 1Q?

MA
—x10
£1) CAX 0
CA
2y =
@ MA
@ EAxio00
MA
MA
(4) CAx100

21. Who among the following described
‘reflective thinking™?

(1) Dewey

(2) Ross

(3) Woodworth
(4) Drever

22 Which is not included in the levels of
inductive reasoning?

(1) Observation
(2) Experiment
(3) Generalization

(4) Imagination

24. Failure in retention and recall of learnt
content 1is :

(1) forgetting.
(2) memory
{3] retention
[4) thinking

24. The main characteristic of basic instinct
is that which is found only in

: (1) human beings

(2) cats ahd r-ats.

(3) all organisms and it is inborn and
natural

(4) artists

5 ~ ['P.T.O.
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25.

26.

27.

() AfEF g

28.

29.

30.

qﬁq#ﬁm%ﬁmaﬁﬁﬁ&m A1
 a= % Ty Piyges 9 wted fa =
Hitr wmfte feman man 27

(1) 37T=d% 26

(2) g7 15

(3) =% 45

(4] =T 21A

HIR 7 AR o § A fra vy v A
Fiiga foran 37

(1) FIFE (394)

(2) HATHER

(3) TEwE

4 IR st

&o Fo o =1 eva F1 7 | forwrat g 27

(2) vama

(3) e

(4) T

%ziq:m 1 frgra Fra # ¥ Pl e wan
)

(1) Altrm

{2 wf

(3) R

4) Gl

fa g B e wREw 6 aits

=afwis fafy 87

(Y e

(2) =fEA

(3) TR

(4) - TEVIERT

e gy i § | fred gl §7

1) amfE aftem e

(2) Hagrard fer
(3) EaETs faem w1 e
(4) wARRE faer

Paper-I1/C

25. The right to free and compulsory
education for Childrcn- between_. age
group of 6-14 has been included in the

Indian Constitution as
(1) Article 26

(2) Article 15

(3) Article 45

™) Article 21A

26. .,Krcts-::hmer has classified the persons in
which one of the following main types?

(1) Asthenic
(2) Athletic

(3) Pyknic
(4) All of the above

27. The purpose of TET is to measure which
of the following?

(1) Intelligence
{2) Aptitude

(3) Attitude

(4) Values

28. Consolidation theory explains which of
the following? - '

(1) Learning
(2) Memory
(3) Motivation
{(4) Creativity
29, Which of the following is the most

subjective  method of educational
psychology? https://www . upboardonling.com

(1) Introspection

(2) Extrospection

(3) Observation

(4)  Experimentation

30\ Albert Bandura is ass-.lociated with which
of the following?

(1) Social learning theory

(2) Behavioural theory :

(3) Cognitive development theéry
(4) Psychosexual development

6
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YTET—II / PART—II
WI-I (=) / Language-1 (HINDI)

(4) ST
33, ‘gl @ufq el B} € 9 (q@) —aw ¥
e o 9= B
(1) eniiefs
(2) anfersdfoes
(3) emfuefe=h~
(4) ST
34. ‘32 i FR P = el @
(1) W &R § S
2) % wm w7 Ry s v
(3) ¥z =afs el
(4) Tl 6 avg frht g | 3
35. ‘U5 A $H-91 GAE 87

38. ‘¥ faufer = # A fFm +nw ¥ e W
Bl &7 -
(1) ot
(2) W
(3) TRIER
4) =
39. 'Iq4 TEER S T’ —3| @ A TR
fr=ifra § @ form
(1) w7 B
(2) Ronedes fn
 (3) Taedeh T
(4) TEFITR T
a0, Frerffaa # aree faao 6 fifa 7 &
(1) wfam iy
(2) 3l fafy
(3) =arEn fafy
(4) wHam U8 Ty
41, freafafian # sifgene St @
(1) @pE fErrs aE&E i fes w6
(2) e H TWRARA F
(3) A g
(4) v iR i & s

(1) =& ) N
@ fam 42.%%'%3@%@&1‘&@
- (3) Ry Wﬁiﬁﬁ?m%—_ﬂﬁﬂ frm R
(4) =gife 7 )
36, SEVETE T ST 3 (1) Wﬁfmqfﬁwﬁq.
1) R @) g pm e
(2) ¥IFER @ feat = (3) ?ﬂi‘ﬂ;ﬁﬁﬁ :
(3) HYH A H 4) -
W) g ‘ 43. ‘et arady | g
3. T 3 reRfE wha T AT - R immwmd
Tt 72 e & i qgeT @l ﬁmw%ﬂﬁmaﬁmam
T it 3§ v @ R —Freehl dfth 27
(1) Wmw (1) He=im
(2) s {gj mmamuﬁ
B) arw ™ ( _
@) =on @ (4) <R
Paper-Ii/¢ 7 [ PTO.
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44, f&=t F1 gzen w 2
) 34 AW
(2) sfaem faftremrs
(3) TRH IFEER
(4) Rz iR
45, gfl gal i el 2
(1) =R
(2) wEFE
(3) T
(4) g
., ‘Tfem sfim i’ ¥ @R #. 8
(1) Fo |
(2) # gew
(3) 3o AT
(4) 31 figa=
‘Bt I TH IR AR H AH R -
{17l <
(2 A
(3) =P TH
(4) w@ER Pl faE

- a8\ Tanft gaded @ Fea arord % e ae
gAY

(1) wmaRY e

{2) et W

(3) UHHEE

(4) e o
%‘mﬁ’%wg

(1) AT

(2) ¥4 W

(3) fore M

4) R

a7.

Paper-11/C

8

& (9w "o 50-54) : fg T TR H TR
ﬁﬁ%ﬁaﬂm%aﬁﬁmmﬁm

uﬁwm%mﬁﬁmﬁ%mm
IECREI

2, 53 frr e |19, Wﬁu"{
2 IR TW waw § P 92-a8 @M guE

F gy O T R, HifE Eﬁﬁ
mmnﬁaﬁmﬁmm%ﬁww
) fom il & 9@ o O ST R, 4 @
# 3fy = ¥ ofn "aw 3 T W A
o S 21 S o el 2R 3 s W ER
7di ¥, 3 HEW A Red €0 @ 2R g S I g
F 81 Fdea e i werdn § Fe1 s wEY 21
T A FdeH UM HA B, 98 A FH R
el A e 1w s 2w @ o

5P/uﬁ :nﬁ;?mﬁ q qmn ‘sﬁﬁ arell uqﬁﬂﬂ
(1] FEIR 7, Wmﬁmqmw
EE 1B
(2) W TH A B
(3) 3ered hi Aftrwa
(4) ST i
51, Aaw ¥ 33-92 M} 7 Az AR}
(1) ¥ 3@ R
(2) TR
(3) TATHT B
(4) "9 FdA
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52.W’ﬁﬁmﬁwﬂwﬁ—ﬁq

(1) fp+aa + @
? fR+ad + @
[3rﬁ1+aﬁﬂ+3ﬂ

(4) TR + =< + 3T
54, ‘Tt & WEaT=E 9W &

(1) SFFEE
(2) FCE
(3) . FRH
(4)  FRTN
54.)‘2%%%3%%’ %-%{ﬁzﬁam
(1) mfi
(2) Wihl‘rn.
(3) s

@) zhm

5§J7ﬁ?-marmgga?
O wims-md o
@) T % ey 3 afdt A oo R
YR R S S
@38 R S g @ B '
Paper-Ji/¢

56. fqaefl’ # S7-d |@f &7
(1) < |y

2 FaEh
(3) T afy
(4) A Ey

5P FTH &1 TgiFar v §
(1) I
(2) fafea
(A <
(4) I H A HE

58 T fmE wad e |
(1) =R H S
(2) TRV HA

(37 TGS -3 FOh I ¥
T

(4) ufY 3R g¥mE F9m

59. fag w1 =@ g3 g =,
= fag & ¢ fafyy e

¥ uitrdt § WY STHN R
(1) R
(2) Tamraifs
(3) e
(4) gE
60« "ﬁi'wmmm%?
(1) &=
(2), gf
(3) weH
#

2| P.T.O.
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wm—III / PART—III
TI-II (3w1) / Language-II (ENGLISH)

Candidates should answer the questions from the following part only if they have
opted for ENGLISH as LANGUAGE-II

61. To chew the cud’ correctly means
(1) to contrive against someone
(2) _to die on duty
) to meditate
(4)
Directions : Complete the sentences in the

following questions (Question Nos. 62 to 64)
with most appropriate choice, -

to inculcate virtues

62. He was very much ashamed- his
mischief.

(1)
A2)
3)
4)
63.

for
of
with
over

‘he stood first, he would-have gode_
to America.

o i
12{ Had
(3) Have
(4 Anyways
647 Of the sword and pen, the is more
powerful. o
(1) last one’
12} "later
(3) latter
(4) Tast

65,/ Which prefix .can be used with. the

following words?

- behave, guide, use
(1)
(@)
Lr
(4)

dis
mis

Ie

Paper-11/C

¥

10

A66. Choose the correct sentence.
(1) The committee were one on this

point.

() The committee was one on this
point. '

(3) The committee was divided on this
point, '

J#) The committee have one on this
point.

67. Which of the following is an example of

simile?

(1) I wandered lonely as a cloud.

I(2) Life is a dream.

Anxiety is sitting on her face.
A lie has no legs.

o

68. Change the following sentence into
active voice ;
- The wvisitors.: were shown . the

newborn by the woman. ' .

(1) The newborn was shown to the
visitors by the woman.

(2) The woman has shown the newborn
to the visitors. )

13y The woman showed the visitors the
newborn.

{4) The woman might have shown the
newborn, o

@. Select the antonym for the word
‘adverse’.

-{1) Hostile

(2) Friendly
-@

Inimical
Unwilling

o .
70. Fill in. the blank with correct word- to

complete the proverb :

Blood is _.. -than water.

(1) thinner

(2) thicker

(3) purer

(4) precious

https://www.upboardonline.com



71. Bees are kept in
(1) a pantry
{2) a nursery
[3) an apiary

(4} an aquarium

72! The idiom ‘green-e_yeci monster’ means

(1) to be jealous
) to be sick
{3) to be angry
{4) to be blind

73. Select the sentence in which the article
hasg been wrongly used.

+} He is a MA.

(2) Twelve inches make a foot.
(3)
4

74l Pick out the correct question tag for the
following :

A pupil should obey his teacher.
He is a European.

People shouldn’t drink and

drive, ___
should they?
shouldn'’t they?
(3) isn't it?
A44) shall they?
75. A sentence is divided into four parts

(A), (B), (C) and (D). Point out the part
that has an error :

(A} You are learning English
(B) for the last one year

(})
b

{C) but you show _
(D) no improvement at all.

M A (2) B
3) € (4) D

767 Give one-word substitution for the

following : . i

The scientific study of insects
{1)
)
(3)
(4)

Criminology
Entomology
Mycology

Meteorology

Paper-li/C 11
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77. Point out the correct direct speech for
the following :

I asked why he was looking
through the keyhole.
(1) “Are you looking through the

keyhole?” 1 said.

“Do not look thrdugh the keyhole,”
I said.

(2)
{3) “Why are you looking through the
keyhole?” I said.

“You are looking through the

keyhole,” I said.

(4)

T8./Put the verbs in the brackets into the
correct present tense :

My daughter never (wﬁte] to me
so I never (know) what she (do).

My daughter never wrote to me so
I never knew what she do. '

)

(2)

‘My daughter never write to me so
I never knew what she does.

3

My daughter never writes to me so
I never know what she is doing.

(4)

My daughter never writes to me so
I never knew what she does.

79« Pick out the correct synonym of the
wprd ‘cantankerous’.
(1) Rash
(2) Quarrelsome .
{3)
(4) Distespectful

Noisy

¥

. BO. Pick out the sentence that has a

demonstrative adjectwc in it.

(1)
(2)

It is a twenty- lqlornetre walk

This kind of question is.often asked
in examinations.

Each of them received ten rupees.

3)
5

His written statement differs from
his oral one.

1 P.T.O.
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Directions : Read the given passage carefully
and answer the questions (Question Nos.
81 to 85) that follow by selecting the most
appropriate option.

Work expands so as to fill the time available
for its completion. The general recognition of
this fact is shown in the proverbial phrase, “It
is the busiest man who has time to spare”.
Thus, an elderly lady at leisure can spend the
entire day writing a postcard to her niece. An
hour will be spent in finding the postcard,
another hunting for spectacles, half an hour
to search for the address, an hour and a
quarter in composition and twenty minutes in
deciding whether or not to take an umbrella
when going to the pillar-box in the street. The
total effort that would occupy a busy man for
three minutes, all told, may in this fashion
leave another person completely exhausted
after a day of doubt, anxiety and toil.

81/What is the total time spent by the
elderly lady in writing a postcard?

(1) Three minutes
2y A full day
. [3) Four hours and five minutes

(4) Half an hour

82, What happens when the time to be
spent on some work increases?

(1) The work is done smoothly.
(2) The work is done leisurely.
{) The work consumes all the time.

(4) The work rieeds additional time.

Paper-i1/C 12

83. What does the expression pillar-boy
“stand for?

(1) A box attached to the pillar
(2) A box in the pillar
(3) Box office

(4). A pillar-type postbox

84, Who is the person likely to take more
time to do work?

(1) A busy man
(2} An elderly person
(3) A man of leisure

(4) An exhausted person

85/ Point out the most appropriate
explanation of the sentence, “Work
expands so as to fill the time available
for its completion”. '

(1) The more work there is to be done,
the more the time needed.

(3) Whatever time is available for a
given amount of work, all of it will
be used.

._.‘

(3) If you have more time, you can do
more work.

(4) If you have some important work to
do, you should always have some
additional time.

https://www.upboardonline.com



Directions : Read the given passage carefully
and answer the questions (Question Nos.
86 to 90) that follow by selecting the most
appropriate option.

Helicopters are very differént fron¥ airplanes.
They can do three things that airplanes
cannot do. First, when airplanes move
upward, they must also move forward, but
helicopters can move straight up without
moving ahead. Second, helicopters can fly
backward, which airplanes cannot do. Third,
helicopters can use their rotors to hover in the
air, which is impossible for airplanes.
Helicopters can perform actions that airplanes
cannot, they are used for different tasks.
Since helicopters can take off without moving
forward, they do not need a runway for
takeoff. They are used in congested areas
where there is no room for airplanes or in
isolated areas, which do not have airports.
Because they can hover, they are used on fire-
fighting missions to drop water on fires. They
are used in logging operations to lift trees out
of forests. Helicopters are used as air
ambulances to airlift patients out of
situations, which are difficult to reach by
conventional ambulances. The police use
helicopters to follow suspects on the ground
- or to search for cars on the ground. Of course,
helicopters have military uses because of their
design and capabilities.

86. The word ‘congested’ in the passage
fneans

(1) the place is roomy
(2) the place has no place

(3) the place can be accessed by police
vans

(4) the place has so much of smoke
due to fire

Paper-I1/¢ 13

87. AAielicopter can hover while an airplane
tannot, according to the passage.
‘Hover’ in the passage means
(1) stay at one place in the air
JZ) move straight up in the air

(3) go backward in the air

(4) fly sideways

88 Point out the grammatical category of
the word ‘perform’ in the passage.

(1} Noun
(2} Verb
(3) Adverb

(4) Helping verb

89, Why is a helicopter used as an
ambulance?

(1) ‘Its movement can be manoceuvred
easily.

(2} It crosses all difficulties of traffic.

(3) It. teaches the inaccessible places
easily.

(4) It can fire-fight.

90. Point out the grammatical category of
the word “very’ in the passage.

(1) Adverb
(2) Adjective
(2] Noun

(4) Verb

[ P.T.O.
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q—III / PART—III
HqET=-11 (wga?r) /] Language-II [SANSKRIT]

Thameft Preieied ST % STt & S S A £ AR TR Wil & e a8 I Al

61. T =i wiaafy’ arem @ aren afEda dm 66. THEYE ‘FyagE:’ 1 fame e
(1) 7o freg: iz (1) wwadt 9 st 9
(2) 7o R g (2) 9 vl 9 g
(3) TN firsm: wigEA | (3) wuadl Wil TE: |l
(4) "Teon fare: wraafi) (4) T w7
; 67, &1 4T, T I, FoW GeN, Fgae T 8
62. mﬂiﬁ; Htgﬁ‘?l amdfagaa’ dftw A "Gt (ljmgﬁaaa: ¥
- 2) =
(1) = 3)
(2) < (4) B
(3) &9 ‘ ' '
P 68. ‘3g + FHigd’ # Fw-d vy At 27
| ) (1) < =wfd
63, ‘I F Tgg eI AW ¥ —3 A W (2) T uF
Wepd AR B @ Fau
(1) e Aigs I=a | (4) |
(2) e Hige Ud | 69. HH-8 T g & Ta¢
(3) ST A e (1) §€39%
(4) eI e A | 2 ®Y
(3) Ty
64. gnq § q FH-G1 T TEERG R G TE (4) 3 e
A ,
(1) ‘e 70'2??$W=WWWWW%
(2) ‘ﬁﬁﬁqﬁm’ o) W
(3) EHIHEETH, @ @
(4) “RrgarerEe (4) VAT,
65. s a1 T TR W ©F 71.ﬁ1an§f?ﬁﬁﬁmﬁﬁré:mmfﬁﬁsﬁm
(1) %@ i
- (1) FEHEW
(2) (2) HoA-S¥4 AT B
@ ™ (3) FH h TR g
(4) I B @) feedi 3w
Paper-I11/C 18

https:/ﬁwww.upbaardon!ine;com



frdyr ; Freffad TEEER B AAES T
w72@74ﬁﬁﬁﬁmwaﬁtﬂﬁm

fu SyEeRd WIER I FER i
AR wifaw: BT WEA: | R
Y wedm WE 9d9d | AR T A SER sy
Feam:  dff WS E - W Rymf
ERTEOAE T FweAN Wy wed) wm-
FeaOTAE GegEsl Bl T, FAM T q9HRE:
TeaR) | FegE G T T Ef |
gAY RIYRTE TEe faveeyor ftlay | veqigssm
q @ @ A @ foeE v Raen owy
I JSTEOTIY T Ja-a | Feld: aehfs, e @
F 7 SHI | TR RIS 99| T q0dhg
wel 9| gu: WiRaEE wwi | me: wg wa:
W I3l WUEREY WU WeE  IUeRg: |
RIGFRATEEE T, mmawqﬁg
e |

72. WCGEHIN TR WAl
(1) F-g=
(2) w@-fiE:
(3) TEAE:
(4) W@-g9s:

‘gia’ T A wR R
(1) 7

2 7

@) m™

(4) omrfe

73.

74. T vee fresdv affaq
(1) ey
(2) wiamRy
(3) ~amwmRy
(4} wremeviay

Paper-11/¢

75. ‘T TR A WA R
(1)
(2) w1
(3)
(4) ™

‘T2 THR I T4 Bl g
(1) o7 wfesg i
(2) HWFE Al §
(3) e ¥ A

BECiREEk

76.

77. T 8 | ®R-w W@ A6 37
(1) =
(2) %
3) &

@ <

‘SRqTion:’ A SE-A1 T 87
(1) g

(2) =gl

@) fa1

(4) &%

78.

Feda: Y] UTg N HH-EE 27
HH geY agae
LR R FCEE
REAH T59 THa=A

A gey feaeH

79.
(1)
(2)
()
(4)

19
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80.

81.

B2.

83.

84.

Paper-II/C

‘Fiar=’ #§ e frad san i R7
(1) @i
(2) A
(3) ==
(4) fow

"BEEETIE, SE-E geT 37
(1) 74 (dEw)
(2) 47 (Harfera)
(3) 37 (HdH)
(4) 34 (<)

‘AT T M H G WG 5T &
(1) ¥a: T9a"

(2) iy T

(3) rETdER

(4) TRRERE:

‘gz’ 3TET B
(1) fidf deges
(2) = A
(3) HHUTE HI

(4) e dges

;' urg T TR 3T IR THEAE FFIR
(1) 3
(2) wER
(3) <
(4) SR

20

85. 'y’ wy ¥

86,

87.

88.

89.

90.

(1) ‘geo=fesqy A

(2) ‘HERewy A

(3) ‘wefrmhfE A

(4) ‘e A

- 35 G 1 AvA ST 8
(1) TgE R

(2) ‘=i’ #

(3) ‘frmargig

(4) ‘walay d
‘aremmErE: § ‘warde: fe
Terdieor 87

(1) =P il

(2) EFIE H

(3) giEa: F

(4) 9I& <l

I ATER Tl

(1) @l Tofaggl 6 e

(2) o TolaEl A gy

(3) T W G Ik oieng ) gEf
(4) 3T B R aohagg B omR

$9E9T W R

(1) 9 st =
(2) ¥ W
(3) S 0 A
(4) = H

o o i <’ o v oty v
(1) T fasm T
(2) T T i Ay
@) T o ey
() T o ey
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TioTE

HT—IV (A) / PART—IV (A)
o MATHEMATICS AND SCIENCE

ﬂﬂaﬁﬁﬁ”ﬁ:ﬁz:ma‘-m%mmmﬁéu&mﬁﬂﬁm@ﬁﬁmmﬁmgmﬁ
Candidates sho answer the questions from the following part only if they have
‘ opted for MATHEMATICS and SCIENCE

91. TN~ TE-H-T T I $fw, =) o

culil
(1) 9999 (2) 1899
(3) 9000 {4) 9801

92. 59 x!3+1FH x-1 3 9 e W, .5
w1 S=9m?

(1) 0 2) 1
3) 2 4) -1
93. IR AT BEGEA C % e Iv@g=m &,
AU(ANB) fress st 87 :
(1) AnB (2) AUB
3 A (4) B

94. % 1fa f sFEE wfdad 5% o = 21 AR
g9aH 3 3W T f SEE 4410 B, @
@ 94 1§ 30 g it sHae Tt o7
(1) 4420 (2) 4430
{3) 4440 (4) 4000
95. T HEA ¥ 25 @@ & Yl THEG FH F
e o = R 3 2 AR @ W W
3ifFd e € 100 7, @ FA 3R W Y
T 3R < dE g Hif)
(1) 20000
(2) 25000
(3) 30000
(4) 15000

96. a1 F 52 TH F TE A T TN AGTH ¥
2 P s 41 7 sifn & P 99 g

91. aﬁ‘yzd the biggest 4-digit number which is
perfect square,

(1) 9999 (2) 1899
(3) 9000 (4) 9801

92: When x!3 +1 4s divided Py x-1 then
what is the remainder?
(1) 0 (2) 1
(3 2 4) -1
93: If A and B are non-empty subsets of a
set £, then AU(ANnB) is equal to
- (1) AnB (2) AuB
3 A 4 B
94/ The population of a village increases by
5% yearly. If gt présent the population of
the village is 4410, then what was the
population bef6T€ two years?
(1) 4420 (2) 4430
(37 4440 .(4) 4000
95. A company makes an advertisement of
shares to collect a capital of ¥ 25 lacs. If
the printed price of one share is ¥ 100,
then find the number of shares
circulated by the company.
(1) 20000
) 25000
(3) 30000
14) 15000 |
6. From a_pack of 52 playing cards, a card
is drawn at random. What is the
probability that the card is a spade or an

]

1 B A1 T 7 ace? .
4 6 i )
W 3 @ 33 W 33 (2) i3
8 .2 3 _3_ 4 2
l3)1—3 @ @) 73 (=
<% ®rd & 7¢ WE / SPACE FOR ROUGH WORK
Paper-11/C 21 [ PTO.
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97. T T f § ABCD wh W wgde ¥ @
I W (x, 1)

A/_\B

3y-5° 4x°

4y+20° 7x+52
D \_/ c

(1) (155259 -  (2) (10°159
(3) (15° 359 (@) (40° 359
x % 68 7 ¥ foq Fm siwst |1 wgow
27 7

25, 26, 27, 23, 27, 26, 24, x,
27, 26, 25, 25

24

98.

27
(3) 25 ° (4) 26
fe x=2, y=1, z=-3
23 4+ % + 23 - 3xyz FFaS W= &7
(1) 6 @ 2

3) 8 (4 O

T utfife amaem § Rt ofr gesl 6 seied
H IEUE 3:2 911 20 R gEEl F A H
sty Sere | fei ) wen e o7

(1) 36 (2) 40

(3) 16 4) 24

M YR arafas gEmsl a, b, ¢ % AT A

a b_c_2a-3b+5c

2 3 4 k

A, @ kA B
(1) 10 (2) 15
(3) 20 (4) 25
102. 3R A @R B #§ A wg=@ ¥, 9@ &
A\B=A®, T ANB &

(1) (2)

99. g,

100.

101.

e, ABCD is a -cyclic

. 97.In the given figur .
& g the ordered pair {x, g

guadrilatera_l. Then
1S

() (15°%259) (2) (10%159
(3) (15° 359 (4) (40° 359

'98} For what value of x, the mode of the
following data is 277

25, 26, 27, 23, 27, 26, 24, x,
27, 26, 25, 25

(1) 27 (2) 24
(3) 25 (4) 26
ag; If x=2, y=1, z=-3, then
x3 +y3 +23 - 3xyz equals
(1) 6 2) 2
(3) 8 .4 0

100/In a religious gathering, the ratio of
number of ladies to that of gents was
3:2, When 20 more gents joined, the
ratio was reversed. The number of ladies

- was
(1) 36 (2) 40
(3) 16 24
101, for three non-zero real numbers a, b, cif

a b _c¢ 2a-3b+5c

2 3 4 k
then the value of k is
(1) 10 2) 15
(3) 20 4) 25

JOZ\If A and B be any two sets such that
A\ B=A, then AnB is

(1) @ (2) A n o 2 A
3) B (4) AUB (3] B (4) AUB
T T % foT0 WE / SPACE FOR ROUGH WORK
Paper-11/C 22
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103. gfe gHIR x%-bx+ec=0 & % A FAT
ol geard €, b%-4c
(1) 1 (2) -1
(3) 0 (4) 2

104.Eﬂ 'H@'I(’Fﬁ 1 He He 3?&‘ o He HHIT: 13
o 1989 1 AR T T 117 R, @ gud

e 2
(1) 222 (2) 221
(3) 223 (4) 225

105, A TF 9Rg F I9F T ¥ 10% w4 W
Titea § 3 36 959/ 10% a1fms R =
2| IEH T B

(1) 20%
@) 227%
- 9

(3) 222%
9

(4) 39w J A % 7

106. af2 T x2 - px+54=0 F Y& 2:3 F
s 3 %, @ p A R
(1) 18 2) 21
@) -21 (4) 15

107. Q@ wagda wigel Hi ARG HW AN
25:64 TUT I =] F A 4:5 B FH
AR HT HIIE
(1) 1:3 2)  1:4
(3) 5:8 4) 12

108. Ak A={x:x W= BELOW T Th &K ),
B={x:x Y& WOOL % TH & 8} T

C=A-BR, A C¥ Ivag=dl i ¥ §
1) 1 (2) 2
3) 3 @) 4.

109. T TEgdS ¥ Rl 10 cm @ 24 cm &
THHI T R

104. If the roots of the equation x2_bx+c=0

are two consecutive integers, then
b2 -4cis

M 1 @ -1

(3 © ' 4) 2

104. Phe HCF and LCM of two numbers are
13 and 1989 respectively. If one of the
numbers is 117, then the other nunpher

is ,
(1) 222 2 221
3) 223 (4) 225

105. Jatin buys an article for 10% less than
its value and sells it for 10% more than
its value. His gain is

(1) 20%

2 227%
9"

@ 222%
9

(4) None of the above

106, If the roots of the equation
xQ—px-z- 54 =0 are in the ratio 2: 3, then -
the value of p is
(1) 18 2) 21
(3 21 4 15

107, The ratio of the heights of two right
circular cones is 25:64 and the ratio of

théir diameters is 4:5. The ratio of their

volumes is
(1) 13 ) 14
[3) 5:8 (4) 1.2

108, If A={x:x is a letter in-word BELOW},
B={x:x is a letter in word WOOL} and
C=A- B, then the number of subsets of

Cis
M 1 @) 2
(3) 3 4) " 4

\109. The perimeter of a rhombus whose
diagonals are 10 cm and 24 cm is

(1) 120cm (2) 34cm (1) 120 em (2) 34cm
(3) 68 cm (4) 52 cm (3) 68 cm 4@ 82cm
% T4 % foi¢ € / SPACE FOR ROUGH WORK
» ;
23 " ['P.T.O.
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110,

111.

T wdEw A Yevit f dear 40 €1 AR v

10 Y&l =1 Meg 4-5 awn 99 1 WA 35 8,

a1 R wAe W 3

(1) 2-82 (2) 3-80

(3) 375 (4) 425

14 cm R T TF 314 T A SR TR
F U TG Soi H1E T § | 56 o B
. &l 7m R

(1) 924ecm? (2) 1134cm?

{3) 2464cm? (4) 616 cm?

112,

50 & € TS ¥ ¥ EEm & 53 § § wIR
A ¥ 3R W wemsd w1 e 3.5 31 A
T3l & e §

\ 119’ 'The number of observations ifi @ survey

11A4.

is 40. If the mean of the first 10
observations is 45 and that of
remaining is 3-5, then the mean of the
whole survey is

(1), 2-82 (2) 380

N 375 (4) 425

A right circular cylinder of maximum
volume is cut from a solid cube of
edge 14 cm. The total surface of the
cylinder is
(1) 924cm?

(3) 2464cm?

1134«::11'12
616 cm 2

@)
@)

112 There are 50 numbers. Each numb?}\is

subtracted from 53 and the mean o
numbers so obtained is —3-5. TH® the

(1) 495 (2) 535 4 .
(3) 46-5 (4) 565 of the given numbers 1s
495 (2) 535
113. 29 Y&t 5, 9, 14, 15, x+1, 2x-13, 28, g{ 46'5 (4) 565
30, 32, 34..?#[ R FH A e | 113. Ten observations 5, 9, 14, 15, x+1],
EIGI %l G| mﬁmﬁ?ﬁl 24 %| x 9l Hi1 2x-13, 28, 30, 32, 34 are written in
Ta it | ascending order. The median of the data
(1) 20 (2) 19 is 24, Find the value of x.
(3) 21 (4) 16 (1) 20 (2) 19
2 21 4) 16
114. qf a;,_:; @Wg Rl 3 <R il 81 v 114 Eti: cows can graze a(ﬁi.ld in 9 days. How
wl A/ T 12 fd 3 W many less/more. cows will graze the
wf? same field in 12 days?
(1) 15 TR <41 (1) 15 cows more
(2) 11 TH SEw@ (2) 11 cows more
(3) 11 7R FH {3} 11 cows less
4 15 T FH {4) 15 cows less
) » 115. Which of the following statements is
115. fr 3 A AW o TR true?, |
(1) Tfm H fabm W, 3 e, (1) Different branches of Mathematics,
- Sriafa gents, @—{H}Mﬁ‘ﬁ%l viz.,, algebra, geometry, etc., are
) t A w2 i o Ericzun g e dependent on each other.
{ 3R m%{ : ' (2) Equations can be learpt without
A1 - Gehdl o ﬁa:ﬁ 5 learning arithmetic.
(3) <emfiE F @ il (3) Congruence of triangles can be
agt = gt B _ " learnt without learning algebra.
(4) v ) 73 fomn oft wiferh Tt w0 (4) Statistics can be learnt without
: learning algebra,
Tt B ing algeb
7% %14 % foTg % / SPACE FOR ROUGH WORK
Paper-11/C 24
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116. frefiafed d 8 @ 3
W9 % AR-m 116. g&'{ich among the following is the best

v HaE A=D1 Y ;
2&-@@ o 1 edagogical way to teach Mathematics?
{ i1 TH! EEEIE e Motivate the learners to develop
Frpfia FHFH fom ;h?ﬂ'lf%ﬁ F Hl their existing capabilities

. - (2) Find the weakness and teach onl
(2) e HOEI R I REC] those parts g
(3) Fa« g TEH e T F (3) Find the gaps and address only
4 Rl A w @ e
(4) WE & ygE (4) Teach every student with the same

approach

117. 3% A 1 9 B & 9 F 25% sifm 2 _
?ﬁBHﬂéﬂﬁAﬁ;ﬁﬁ:%ﬁmmmm%?’ ‘1}’?. If A’s salary is 25% more than that of B,

then how much percent is B's'salary less

(1) 25% (2) 18% than that of A?
1) 25% 21 18%
(3) 20% 4) 15% () 25% (2) 187
3B 20% 4) 15%

118. 3 3 I HEAIH w1 AN 8 31 IR = 118. The sum of two natural numbers is 8.

Pl &1 AN % 2, d 2Hl dEel # ™ Determine the humbers, if the sum of
their reciprocals is —

it 15

(1} 1,7 o (2) 4,4 (1 1,7 2) 4,4
3) 2,6 3,5

(3) 2,6 4 3,5 ) pr

119. /l(l"lc expenditure of a family in a month
is given in the figure below :

110. frft gfEr w1 mee =@ A B o#

TR B
Education
25%
Savings
20%
If the difference of ekpcnditure between
.000 ¥, education and travel is ¥ 4,000, then
?ﬁﬁ;ﬂ %m T R G 31.?{ w4 e what will be the total income of the
%ol o feeedt gl family?
(1) 50,000 (2) 40,000 (1) 50,000 {2) ¥40,000
(3) ¥ 60,000 (4) # 30,000 (3) ¥60,000 (4) €30,000
I% TR 3% forg SE / SPACE FOR ROUGH WORK
Paper-I1/C 25 7 [ PT.O,
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120. FEA1 1 WHo 3o U BYal 2
(1) S
(2) =wi
(3) A

(4) =

121. IR P, F 3o A FAEn: m,wqﬁ%ﬁwﬁ
Rt wQ A

(1 p=% @) p=L
A A

—-)__E _};«’

@ P-L @ p=t

122. A 5 FFUE ¥ wF T F G 10 T @
émiw%gsmﬁlm,ﬁwmmaa

(1)

(2)

(3)

(4)

123. @H S99 % 909§ AYH H I T4 R,

FET

(1) mmm-‘é\m%%ﬁmm
TGS

2) I F FAEFE q@ ¢ Thg fem @
ielGEd

3) mamﬁmaﬁaﬂgﬂmaﬁ%

(4) o qeon g 3 1 e g

'124. 9 F gEHE YA T T F0EAR

-

1 "SR
2 HES
3'F|'|5_|'_°F
4 Hidh

126. The SI unit of heat is

(1) joule

(2) erg
437 calorie

(4) watt

121, P, F and A represent pressure, force
and area respectively, then

(1) P= (2) P=

AT
>

e > ¥

3) P-

> [

4) P=

122: If the momentum of a body increases
from 10 units to 25 units in S sec, then
the force~acting on it is

(1)
(2) 2 units

J}J 3 units

(4] 4 units

1 unit

-}25. Mica is used in cooking utensils because
it is

w

(2)

good conductor of heat but bad
conductor of electricity

bad conductor of heat but good
conductor of electricity

(3)

good conductor of both heat and
electricity

(4)

bad conductor of both heat and
electricity

Il 1247 The angle of _Cf_liPl at magnetic pole of

earth is
(1) o° (2) 45" (1) 0° (2) 45
{3] a0° (‘H 135° (3] 90° - 14] 135¢°
% % Y 9% / SPACE FOR ROUGH WORK —
6
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125. 10 m THE F WH WM § 20 gy
Qgﬁlﬁﬂélﬂﬁw?mﬁﬁf% =
(1) 25 cm (2) 50 em
(3) 75 cm (4) 100 em

126, af THI A1 HE F TW Svade g, 4

-. 3

am%ﬁi,?ﬁﬁﬁimﬁﬁﬁ‘qﬂmﬁ'
BT 2

(1) (2)

Wik oiom
Slw wlo

(3) (4)

127, e FE0T § -TR 61 1 &\ B 27
(1) «e
(2) =
(3) =l
(4) W
128. fr@s &1 y-wandt fam fras dwor @«
anuiia 87
(1) S
(2) "
(3) MW@
(4) =M *
129, f2-anufl ¥& (1101), & ged SUHEd €&
B 7 |
(1) 9 (2) 11
(3) 13 4) 15
130.ﬁ*—=ﬁ§|ﬁ‘§ﬁ § § FH-w GgfeEs FETE
I8 77

A25) Sound waves consist of 20 compressions
and 20 rarefactions in 10 m length. The
wavelength of the waves is

() 25 cm ° (2) 50 em
£3) 75 cm (4) 100 em

4 3
126, If 3 and 5 be respectively the absolute

refractive indices of water and glass,
then the refractive index of glass relative

%er is

m

(3)

(2)

W+ Ol
Slw Pl

4

127,11 household wiring, what is-the colour
of ‘earth wipe'? A
(1} Red
—~(2) Green
(3) Black
(4) White
8. Kirchhoff’s current law is-based on the
. conservation of
(1} energy
(2) momentum
charge
(4) mass
The decimal equivalent of the binary
number (1101) is
(1) 9 (2) 11
(3 13« (4) 115
130. Which of the following is ‘not..a
‘constituent of petroleum?

129,

(1) W A Petrol
(2) FF 12) €oke
(3) i Am [3). Paraffin. wax
(4) HES 9w (4) Lubricating oil
131. M R TR 30 TE | 131/A metal M does not liberate, hydrogen
?l?l‘lﬂ%g m%mﬁﬁﬂﬂ from acids but réacts with oxygerrto give
o HCS %ﬁ, M3 IIE.’ilTﬁQl ’ a black colour product. Identify. M.
| (1) Na 2) Mg |
(1) Na (2) Mg 3 ca 9 Ca
(3) Cu (4) Ca
% w14 % fig 7% / SPACE FOR ROUGH. WORK.
N PRO.
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132, Fefafen # ¥ el womed @ wen
aiftraam &7

(1) No& 16 g
2) CO, T 16 g
(3) CH4% 16 ¢

(4) O, F 16g :
133, WAVRen ¥, TR i el ) B i @
fovwa g fadiRa Ren sman 37
(1) Bry/Ho0
(2) KMno4;o§;H20
(3) 2w afrim
(4) ierT fems
134. fra 9Pt 4 A fradt arfadiom 9 sitadtemn
e +2 37
(1) >OF, (2) “Na0
(3)-NaO, (4) NaOg
135. WTiFHfds TR F as g 2
(1) feinfm
(2) A=
(3) e
“(4) A
136. QifUs Y e DT ¥
(1) n-9=9
(2) IMEEEA
(3) fsiRes
(4) ITEELA R
137. Wifew A & srpeit 3 n-geeit A den
B ® '
(1) 4n (2) 4n+1
(3) 4n+2 (4) 2n+4

138, TR & UeH (@) FO THUE WM %
sfomEEy @ TRt
(1) ¥RH H
(Q)I.-..Wﬂﬁ?ﬁﬂ;ﬂ
(3) T H
(4) TUIUETT FHUH HI

132./Which of the following has maximum
number of atoms?

(1} 16 g of Ny

(2) , 16 g of COy
16 g of CHa

(4) 16 g of Oy

133. In laboratory, ethylene and acetylene
can be distinguished by

(1) Bro/Hy0

(2)

(3)

(4)
134. In which of the following compounds,

the oxidation number of oxygen is +2?

(1)) OF, (2) Nang0

@) Nao, (4) NaOg

.13ﬁ. The monomer of natural rubber is
tl) Neoprene
) Isoprene
3) Terylene
(4) Orlon
(136. Which compound has the highest
boiling point?
(1) n-Pentane
(2) Isopentane
(3) Neopentane
. {4) Isobutane

.137/The number of r-electrons in the
molecules of aromatic compound is

(1) 4n (2) 4n+1

3y 4n+2 (4) 2n+4
~138. Rutherford’s alpha
- experiment resulte

1}' proten

2] nucleus in the atom

(3} electron

(4) atomic mass

©
KMnO,4/OH/H,0

Tollens’ reagent
Fehling solution

(0_:} particle scattering
d into the discovery of

T H4 & T W12 / SPACE FOR ROUGH WORK
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139.%??@31??@3?'7"“?@%&1#&1%%
Tl BY

139. Which one of the following is not a
heteregsnoms mixture?

(1) & (1) Air,
(2) <H (2) Milk
(3) g (3) Smokd
(4) el (4) Jely
140. LI F1 HECA 87 /140. Silk farming is known as
(1) TR (1) Epiculture
(2) TodieRe=R (2) Pisciculture
(3) Tl B) Sericulture
(4) Wftereet . (4) Agriculture
141. N E ¥ =Y @ 99 T S “41. All organisms belonging to the kingdom
- rotista are
@ e fl)tt'nl'd karyoti
unicellular and eukaryotic
1 Q$$qlﬂilq 21 q%ltﬁlﬁm
[2l TR ao (2) unicellular and prokaryotic
SRR (3) multicellular and prokaryotic
(2) e fetes . i K .
(3) =g a o (4) multicellular and eukaryotic
4) <EHRE a9 HRATE
) _ 142, Which of the following pigments is
142. fr=fafed & @ SW-w avis 6iet & g 3 associated with the germination of
TRy TEar ! seeds?
(1) HEEEHE (1) Phytochrome
(2) TARREARA (2) Plastocyanin
(3) TR (3) Chlorophyll
(4) e (4) Xanthophyll
143, T8 FIF, N T 2 (i) = {\‘Tﬁ = 3 143 TII:B ti;sur:‘ thatncgnnects one bone with
) % 2 the other 1s calle
; ’ (1) adipose tissue
(1) T (2) cartilage
(2) R (3) epithelium
(3) 3UeheTl @ ligament
(4) =g o 144/, Viviparous germination of seeds occurs
144, it =1 e (fafid) Sige A8 in
(1) umH (1) mango
(2) -(E;ﬁqﬁnﬁ (2) rhizophora
(3) Sﬂﬁ\i‘l (3) potato
(4) T (4) sugarcane
T% @14 % forg W8 / SPACE FOR ROUGH WORK
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145. T -HTAN | I979@ F w9 F g6 e

145. The source of oxygen liberated a4

W Hd 2 byproduct during photosynthesis is
(1) =R BRI (1), carbon dioxide
(2) < ﬂ]/ water
(3) Tﬂ?"ﬁﬁ (3) glucose
(4) FfSa (4) chlorophyll
. T ' 14 . ood that prevent
e ?ﬁmajﬁg %ﬁﬂés:l‘;? o R T F 16 ?;gcclz?i?rfg ?r?ni:'ltzijggéﬂpod. vessgls is :
(1) Taidl @ ntibody
(2) TfA T{) heparin
(3) wife=m 3} thrombin
(4) ST (4) haemoglobin
147. SRR B D Prad mg o 87 147\ Islets of Langerhans are present in
(1) JmEE™ (1) stomach
(2) THd (2) liver
(3) =AY (3) pancreas
(4) T (9" heart
148. Tralgq TEMEMAS ¥4 ¥ B & 148< Enzymes are chemically
(1) fafe : (1) lipid
(2) T (2} acid
(3) FEiERSe (3) carbohydrate
(4) A FAC] 4} protein
149. freifafaa § & FF-a1 s fafia o #7 1497 Which of the following acids is elso &
(1) e T (1) Formic acid
@) ﬁ;ﬁﬂ'ﬁﬂi Sl {2y Ascorbic acid
(3) e 7 (3) Maleic acid
(4) wiffes e ) (4) Palmitic acid:
150. IR @, a+2, a+4 ST T, @a %? 159-/11' 2.61'1'2, a+4 até prime numbers, then
e A 87 the number of values of a is
(1) T T one |
2 @) two
(3) (3) three
(@) @3 A (4) more than three
7% %14 % fég WME / SPACE FOR ROUGH WORK
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qﬁanaﬂfﬁﬂ%ﬁﬁﬂ W#M%mmaﬁéﬁ?ﬁwﬁm HTT /3y g

Candidates should answer the qu

1 e g a

estions from the following part only if they have
opted for SOCIAL STUDIES/OTHER SUBJECTS .

91, ‘anifa® e wRimEy
U T man oy 91. ‘Community Development Programme’
/[,]f]— 1952 1 was started in the year
2) 1955 % (1) 1952
3 (2) 1955
(3) 1957 (3) 1957
(4) 1960 # (4) 1960
2. YR % I=dH AEEE 3 aREy 92. The Supreme Court of India enunciated
9 =3 5 & ﬁq? |l % the Doctrine of Basic Structure of the
ﬁiflﬂ i Constitution of India in
(1) W0 FE = IR (1} Shankari Prasad Case
(3) Golaknath Case
(3) e % e (4) Kesavananda Bharati Case

(4] FEE R F A |

93.

Under which Article of the Indian
Constitution, the Governor has the

93. Haue % R 3 R F T, power to reserve a Bill for the President’s
TsguTe T fadae ) aefa i wiEh % assent?
il w@ i i @ 8] (1) Article 52
(1) == 52 (2) Article 108
(3) Article 200
2 Gﬂﬁ?a 108 -
2) (4) Article 213 B
(3] =R 200 94. The Vice President of India is elected
(4) F=R 213 by the members of an electoral college
consisting of
94, MT % IqUEHR @1 Fated  FEferh-TEs & (1) all the members of the Council of
- T v R, RS gem A9 B ' States
(1) Ty % adft 92 (2) all the members of both the Houses
. ' of the Parliament S
far m%ﬁ_“ai LR :'E-g (3) elected members of both the
(3) O ¥ ol wedl ¥ Paifa w6 Houses of the Parliament
(4) elected members of the Council of

(4) T wy & fAaifag 9

States

95. HH-7 W 284 (TT) mmﬂﬁ%? 95. Which country is not the member of
SAARC? "
0w (1) Bhutan
P (2) e (2) Nepal
(3) wrERY (3) Bangladesh
(4) Japan

@Gﬂm
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96. TWYa ¥fen’ % vraw w 47
Y = Fo FuRGET
2) T F T
(3) Sio Al =z
(4) g e IR
97, % Fell F Tery ¥
(gl R
(2) TEwen 3
(3) NyFS Fen A
TR el
98. ST fewmea ea 2
(1) sufdm =i
Jrighitciche i cank ke ri R okl
(3) = & =t fesien =
(4) IS A A S A
99, WU 1 wray g Tea | 27
(1) IWIeW
(2) HYE W
(3) HETg
4) 3IauErs
100.ﬁ§mﬁwﬁaﬁaﬁﬂﬁaﬁﬁﬁﬁm
" ueft T 37
(W22 : (2) 13
. (3) 12 4) 9
101. g wiln # w1 o foga go e
fore WU B &7
12 (2) 8
()3?/77 4) 11,
102.aﬁmmmﬁﬁﬁﬂmﬁ$mﬂm
SR
(1) =R
(2) I
AB) 4=
@) @
103. 3T & F dul 9RF T ¢
(1) o fm wETS
(2) R
THEE
(4) e ruci CRRICT
104, Yo g B FEl AT gaf

32

96.

97.

98.

99.

100.

101.

102.

103.

104,

Who is the writer of Rajput Painting?

(1) Ananda K. Coomaraswamy
(2) Rai Krishna Das

(3) Dr. Moti Chandra

(4) W. G. Archer

Folk art is associated with

(1) regional art

(2) painting

(3) modern art

(4) prehistorical art

Geometrical design is called
(1} geometrical forms

(2} the design made by geometrical
forms

(3) the design made in square

(4) None of the above

Aipan is associated with which State?
(1) Uttar Pradesh

(2) Madhya Pradesh

(3) Maharashtra

(4) Uttarakhand

In total how many Shrutis are there in
Hindustani Sangeet?

(1) 22 (2) 13

(3) :12 4 9

How many Shuddha and Vikrita Swaras
in total are there in Hindustani Sangeet?
(1) 12 (2) 8

(3 7 4) 11

To which Gayaki is Char Taal used?
(1} Dhamar

(2) Taraana

(3) Dhrupad

(4) Khayal

Who among the following is not a

Tabla player?

(1) Pt. Kishan Maharaj
(2) Zakir Hussain

(3) Ram Das Sharma

(4) Ahmed Jan Thirakwa
The First National Games were
organized in

(1) Delhi

(2) Bombay

(3) Calcutta

(4) Madras

https://www.upboardonline.com -



(1) THFIH
oy faEEE=
(3) =
(4) w4l
106. OF Ra® Fa AAE1 a1 §7
(1) 25 30T
2y~ 29 AT
(3) 30 T
(4) 31 3T
107. 4 F w9 § ¥gE 79 9 o ¥ dus
I §7
(1) wefi «wa
(2) wef ARE
3y Tef wasifel
(4) wefd Saaa
108. ‘Fig7’ s W form wae & wafia 27
(1) o™
(2), SHETEE
) HEl
(4) 8§
109. T Tt F-H e g 27F B 7
(1) "R
(2) =i
(3) fadh
T AT
11o.wﬁrﬁ%§ﬁmﬁﬁw
T 87
(1} 9
) 15 .
111, ¥f2% 5 <t gafa 8
Y ol
(2) nurhy €
(3) il i
(@) Geftpa i - -
112, 35y sheeiy T T e Ge R €
(1) et #
(2) =& RegH
(3) W §
43} s |

2 12
@) 22
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105

106.

107.

108.

109.

110.

111.

112,

“Today India does not need Gita but
needs a football ground.” This thought
was given by which thinker?

(1) Radhakrishnan _
(2) Swami Vivekananda ,
(3) Plato

(4) Rousseau

The Sports Day is celebrated on

(1) 25th August

(2) 29th August

(3) 30th August

(4) 31st August

Who is the author of the most prominent
book on Yoga, Yog Darshan?

(1) Maharshi Bharat

(2) Maharshi Narad

(3) Maharshi Patanjali

(4) Maharshi Devadatta

‘Zein’ protein is related to which crop?
(1) Paddy

(2) Soybean

(3) Maize

(4) Oat

Which breed of cow is of dual purpose?
(1) Gir

(2) Jersey

(3) Sindhi

(4) Tharparkar _
India has been divided into how many
Agro-climatic Zones?

(1) 9 (2) 12

3) 15 @) 22

The progeny of nucleus seed is
(1) breeder seed

(2) foundation seed

(3) ' certified seed

(4) registered seed

The Central' Institute of Medicinal and
Aromatic Plants is situated in .

(1) Hyderabad
(2) New Delhi
(3) Bhopal

(4) Lucknow

[ P.T.O.
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113. Tfee ¥R % R waifus 397w & 2
(1) e
[y SR
(3) W
@) ==
114, =1 @ SR srqeuE derr fRd R
(1) whgd
(2) TERER H
NE g
4) @S> A
115. St 990 & o ofaes w1 @ @ 27
W v
(2) fR=
(3) HTHIEE
(4) HEH SRIATFRS
116. R T foran v &
(1) w4
(2) vt R
137 g=a afdem }
(4) “TE-TEgs |
117. FE KR & Fo frehl safeal df €7
(1) 22 2) 26

9}4 24 (4) 28

118. Ao To o & e 6T T | 9@ Far A7

(1) R
(2) fewfifmn
3y P gam
(4) e @l
119. Fady Im faw fra 7 T sma @7
Yy 21@
(2) 203
(3) 25
(4) 28

Paper-11/C

113.

114,

115.

116.

117.

118.

119.

The most suitable fruit for marmalade

making is
(1) banana
(2) jamun
(3) malta
(4) bael

The Central Food Technological Research
Institute is situated in

(1) New Delhi
(2) Allahabad
(3) Mysore

(4) Lucknow

Which preservative is used in jelly
making?

(1) Sugar

(2) Pectin

(3) Sulphite

(4) Sulphur dioxide

Saffron is obtained from

(1) bud

(2) leaf

(3) flower stigma

(4) calyx

How many ribs are there in human
body?

(1) 22 2) 26

(3) 24 4) 28

Which disease is prevented by TAB
vaccine?

(1) Tuberculosis

(2) Diphtheria

(3) Typhoid

(4) Pertussis

On which day is International Yoga Day
celebrated?

(1} 21st June

(2) 20th June

(3) 25th June

(4) 28th June

https://www.upboardonline.com



120. T3 =201 & 712 & FAF 6 I By 27
(1) Fh "
EL|
it
(4) TEEH TH
‘e’ % 9EE 9
(1) <=7
A2t e
(3) ¥FA
(4) dHIRs

121.

122. fadra dg iy =1 sdem frgss wmaee i

g w1?
(1) 393
(2) R
(3) frgEm
A FEEE
123, 3R I ‘TG @ &1 TN SEr o
(1) 7R H
Fagql il |
/g fegi A
(4) Rrdzu#
124.mﬁwﬁm§§2ﬁaﬁ
(1) 1865 #
(2) 1870
3y 1875
(4) 1880 %
125. 3 ¥ H FER Fie ¥ graf-ud 76 oan?
(1) TwyEE f&fem
(2) T it
(3) STFEFIF Wi
Ay T |
126. TH-u-g@E’ ﬁwqmﬁaﬁaﬁt?
(1) TEHE TaEt
(2 &

AJST 3TH
“(4) e gl
127. %qwmﬁmﬁamﬁwmm?

(1) 98
(2) =W fawmiee

B) wdadq
[4) TR

Paper-lIfC
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120,

121.

122,

123.

124,

125.

126.

127,

In which clothes is resin starch used?
(1)
(2)
(3)
4
Ashtadhyayi was written by

(1) Vedavyasa

(2) Panini

(3) Shukadeva

(4) Valmiki

The Second Buddhist Council was held
during the reign of

(1) Udayabhadra )

(2) Mahapadmananda

(3) Shishunaga

(4) Kalashoka

Akbar constructed ‘Tbadat Khana’ in
(1) Agra

(2) Fatehpur Sikri

(3) Delhi

(4) Sikandara

The Arya Samaj was founded in the ycar
(1) 1865

(2) 1870

(3) 1875

(4) 1880

Wheo among the following was not
associated with the Kakori Case?

(1) Ramprasad Bismil

(2) Rajendra Lahiri

(3) Ashfaqullah Khan

(4) Surya Sen

Who is the founder of Din-i-Ilahi’ ?

(1) Muhammad Ghaznavi

(2) Humayun

(3) Akbar

(4) Sher Shah Suri

In whose reign did Hsuan Tsang come
to India?

(1} Samudragupta

(2) Chandragupta Vikramaditya

(3) Harshavardhana

(4) Skandagupta

Woolen clothes
Cotton clothes
Silken clothes
Nylon clothes

| P.T.O.
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128. 3 IR H A Rl ‘et e ST 917
(1) =R
@) Y
KIET
(4) wmEsEl
129. T F1 favom =23 aren Te-oRE 0
(1)~ Feia
(2) *m
(3) =
(4) =
130. 3= Tz frw = % sdten A7
(1) SR
A2) SR
(3) 31Ey
(4) fox
131. F=fafan § ¥ SR-0 Fgw sems i

TR % AE 4 T AR A TR §
Yatfs Juge 27

(1) o =t ot
(2) Towm =1yl Tl
3) T
(4) SF® & A F 7
132. i fham & 3oy faft 2
(1" vy faity
“(eramhwﬁﬁ
(3) e fafy
(4) I® § ¥ 7 7
133. TMA 5 G ! GEeard ST ) THEn o)
A B -
(1) YaE
we fagi &
(3) =vimTen ¥ et g/
(4) MR aRel |
134, U-3r 6 9idt 71 fwior 8 @
(1) Jeweel g
F,12)/171?5111‘.1
(3) & g™
(4) W@ 90 g

Paper-II/C
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129.

130.

131.

132.

133.

134.

135.

. Who among the following €MpEerors wag
called ‘Qalandar’ ?

(1) Babur

(2) Humayun

(3) Akbar

(4) Shah Jahan

The Governor-General who partitioned
Bengal was

(1) Curzon

(2) Canning

(3) Minto

(4) Mayo

Kunwar Singh was the Zamindar of
which State?

(1) Barrackpore

(2) Jagdishpur

(3) Avadh

(4) Bithoor .
Which one of the following is the

most suitable teaching aid to show

proportionate size and shape of
continents?

(1) Political map of the world
(2) Physical map of the world
(3) Globe

(4) None of the above

The suitable method of Geography
teaching is

(1) tour method

(2) discussion method

(3) story method

(4) None of the above

A universal language of the map can be
understood by the way of

(1) sketch

(2) conventional symbols

(3) alphabets

{(4) thematic maps

U-shaped valley is formed by
(1) glacier

(2) river

(3) winds

(4) sea waves

The capital of Australia is
(1) Sydney

(2} Canberra

(3) Melbourne

(4) Brisbane

https://www.upboardonline.com



136.%@:@13%%@3%
(1) wefemg 7
(2) wwEs d
(3) wWew wRw §
(4) ffem #
Fr=fafaa g
JaTE R7 AR s g
(1) we
(2) WTOR
(3) ¥«
(4) e
Teoadi i §o 61 R ads A 2
(1) ¥ H iR
2) @AY
(3) IWN-T Hi 3ir
4) <fo-gd A AR
TFrafafaa § 3 F-w v | wafie 37
(1) EHg=d
(2) o= ardt -
(3) T
e
140?’(1::% ¥ § PH-w IopEE e
TER? -
(1) e
(2)
A3) MR
(4) FemERl
141, araHn e & 39 & _
Al agdl $TE & WY T a9
) wgdt =€ & WY Fgal arohd
3 agd Sard % wry FeR e
(4) mm%mwaﬁnw.
142. frefafaa sommEt 3 3 Ar-an fg= wferE
¥ grafag 27
(1) wdEm
(2) T dea 99 WP

137.

138.

139.

37
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136.

137.

138.

139.

140.

141.

142.

143.

Bhilai Steel Plant is located in
(1) Chhattisgarh

(2) Jharkhand

(3) Madhya Pradesh

(4) Odisha

Which one of the following rocks is
an example of sedimentary rock?
(1) Slate

(2) Marble

(3) Shale

(4) Granite

The tail of a comet always points
(1) towards the sun

(2) away from the sun

(3) towards north-east

(4) towards south-east

Which one of the following is associated
with fault? i

(1) Anticlinorium
(2) Strike valley
(3) Hogback

{4) Graben

Which one of the following is not
a tropical desert?

(1) Atacama
{2) Arabian

(3) Gobi

(4) Kalahari

Inversion of temperature means

(1) decrease of temperature with height
(2) increase of temperature with height
(3) constant temperature with height
(4) fluctuating temperature with height
Which one of the following reservoirs is
associated with Rihand Project?

(1) Gandhi Sagar

(2) Govind Ballabh Pant Sagar

(3) Jawahar Sagar

(4) Govind Sagar

Shipki La is the famous mountain pass
of
(1)
(2)
(3)
(4)

Jammu and Kashmir
Uttarakhand

Sikkim

Himachal Pradesh

[ P.T.O.



144, NS HEER % opAE H HNgaEg b
HI-HIY FA §41 =ieY
) fen % el =
(2) Toe faftegi
(3) THaror Tt =
() I & ¥ i 7
145, *Fia fam g watfues seavh wees wEf &
(1) *Feret |
. (2) wmfE
(3) W FE
(4) Rl
146. YA GiaUW H1 FH-a1 v e After
| gt 27
(1) NP1
2) Wwmn
'Mln
(4) WOt IV |
147. GG TS ) 998 B g WRAA Gfeud A
Freafafas § A Sw-w dae fen e
(1) 428f gmu=
(2) 4431 qeLA
3y 73Et wehe
(4) 86371 welEA
148. UEY AHE %1 JeIod T 8
(1) i d
(2) @EH
NE Ak
4) @
149. sEEn B 7 oREar e fwg wwelig
dfeum ¥ ofaria fra g3t 3 wita R7
(1) THEA
(2) ®9gH
(3) o gt
(4) oafie fawa
150. f=fafaa § ¥ #A-91 FRvw fgm kg
Hify & wafa 27
(1) g% 48
(2) 37T 49
(3) g S0
AN\ ST 51
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144. The teacher of Social Studies shoyld
have the knowledge of the subject

matter as well as

(1) educational objectives

(2) teaching methods

(3) teaching technology

(4) None of the above

The most useful teaching material for
Geography is

(1) calendar

(2) map

(3) flash card

(4) barometer

Which Part of the Indian Constitution

145.

146.

147,

148I

149,

150,

deals with the Fundamental Rights?

(1)
(2)
(3)
(4)

Part 1

Part II
Part III
Part IV

Which one of the fo_llowmg Amendments
of the Constitution of India deals
with the issue of strengthening of the

Panchayati Raj?

(1)
(3)

(1)
(2)

(3)

(4)

42nd Amendment
(2) 44th Amendment
73rd Amendment
(4) 86th Amendment:

The Office of the International Court of
Justice is situated in

New York
London
Hague
Paris

Population control and family planning
is listed in which Schedule in the Indian
Constitution? '

(1) The State List

(2)
(3)
(4)

(1)
(2)
(3)
(4)

The Union List
The Concurrent List

The Residual Subjects

Which one of the following Directive
Principles is related to the foreign
policy?

Article 48
Article 49
Article 50
Article 51
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